Complete work in the exercise books provided

Follow these steps:

1. In the first box, color each pair of rods that combine to
make 4. The first two pairs are done for you.

2. In the first box, complete the addition and subtraction
equation for each pair

3. In the second box, complete the addition equations for
each pair of rods.
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Follow these steps:

1. In the first box, color each pair of rods that combine to
make 5. The first two pairs are done for you.

2. In the first box, complete the addition and subtraction
equation for each pair

3. In the second box, complete the addition equations for
each pair of rods.
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Follow these steps:

1. In the first box, color each pair of rods that combine to
make 6. The first two pairs are done for you.

2. In the first box, complete the addition and subtraction
equation for each pair

3. In the second box, complete the addition equations for
each pair of rods.
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Follow these steps:

1. In the first box, color each pair of rods that combine to
make 7. The first two pairs are done for you.

2. In the first box, complete the addition and subtraction
equation for each pair

3. In the second box, complete the addition equations for
each pair of rods.
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(ITTTTTT]
CLITTTT]
I

-~ O
I
o~

NN N NN N NN
1

Complements of 7

- I
L
CITTTTT]
__EEEEN
[TTTTTT
|
L




Follow these steps:

1. In the first box, color each pair of rods that combine to
make 8. The first two pairs are done for you.

2. In the first box, complete the addition and subtraction
equation for each pair

3. In the second box, complete the addition equations for
each pair of rods.

Complements of 8
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Follow these steps:

1. In the first box, color each pair of rods that combine to
make 9. The first two pairs are done for you.

2. In the first box, complete the addition and subtraction
equation for each pair

3. In the second box, complete the addition equations for
each pair of rods.

Complements of 9
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Follow these steps:

1. In the first box, color each pair of rods that combine to
make 10. The first two pairs are done for you.

2. In the first box, complete the addition and subtraction
equation for each pair

3. In the second box, complete the addition equations far
each pair of rods.

Complements of 10
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Answers

Complements of 4 4-0=4 0 +4-4
Complements of 4 4-1=3 1+3=4
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6-0=6
6-1=5
6-2=4
6-3=3
6-4=2
6-5=1
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0 +6=6
1+5=6
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Complements of 7
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7-1=6
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7-4=3
7-5=2
7-6=1
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7=1+6
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7=2+5
7=4+3
7=5+2




Complements of 8
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8-0=8
8-1=7
8-2=6
8-3=5
8-4=4
8-5=3
8-6=2
8-7=1
8-8=0

0 +8=8
1+7=8
2+6=8
3+5=8
4+4-8
5+3=8
6+2=8
7+1=8
8+0=8

8=3+5
8=7+1
8=2+6
8=5+3
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Complements of 9
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9-0=9
9-1=8
9-2:7
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9-5=4
9-6=3
9-7=2
9-8=1
9-9=0

0+9=9
1+8=9
2+7=9
3+6=9
4+5=9
5+4=9
6+3=9
7+2=9
8+1=9
9+0=9

9=5+4
9=3+6
9=2+7
9=1+8
9=4+5
9=6+3
9=9+0
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Complements of 10
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10-0=10
10-1=9
10-2=8
10-3=7
10-4=6
10-5=5
10-6=4
10-7=3
10-8=2
10-9=1
10-10=0

0 +10=10
1+9=10
2+8=10
3+7=10
4+6=10
5+5=10
6+4=10
7+3=10
8+2=10
9+1=10
10+0=10

10=2+8
10=6+4
10=3+7
10=1+9
10=4+6
10=5+5
10=10+0
10=8+2
10=9+1
10=7+3




